Helping respondents to format their
answers: a question wording
experiment in a telephone survey




- Let me tell you a story

- You won’t believe what happened

- Guess what happened




Interaction in a survey interview

I: Would you say your health is excellent, good, fair or poor?

R: It's pretty well




How mismatch answers also can be
“solved”

|: Would you say your health is excellent, good, fair or poor?

R: It's pretty well




Cause of mismatch answers:
Question structure?

Component name: Example:

Question Delivery How often do you do X?

Action projection | will now ask some questions...




Problematic Question structure

(1)

Question delivery
component

4 b 4 u) " o PR ERE b oA a
S N - * 20 - E 5
N | v \VAV | =1 & - 1C
v -. [} '




Problematic Question structure

(2)

Question delivery
component

A

How_(/ much of a problem do you consider pain in your\
bones or joints; a big problem, some problem, or no
problem at all.
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Putting alternatives before/within the
QDC

Question delivery
component

A
| \

Please tell me whether you consider each of the —
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‘Projecting’ alternatives after the QDC

Question delivery
component

Which of the following categories best describes ho%l
much of a Droblem you consider pain in your bones or
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Question wording as a cause of
mismatch answers

Hypothesis 1:

Delayed Processing Questions will yield fewer
- mismatch answers than Seemingly Open-ended
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Response alternatives as a cause of
mismatch answers

What words do people use in ordinary conversations?

Experiment Dutch Health Survey (Ongena & Dl]kStI‘a
2010) o T

(7 ) v S > e e o e " 241 '\ ig el - e P [ s i § l
" Sl it S s avhe ek ha *- ' T B e | Y L LR
- <112, * '.“ b | i <._’,r-. Y| (A e ...J TR 1 e el NS 2| kv . T - -.-_7 i
v \ v




Response alternatives as a cause of
mismatch answers

Hypothe51s 2

~ Colloqg




Split ballot experiment in existing survey

NASIS 2006 (CATI, n =1800)
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Manipulation of question wording

DPQ SOEQ

Which of the following
categories would best describe
Alzheimer’s disease?

What would be the best way to
describe Alzheimer’s disease?




Effects of question wording

DPQ SOEQ

Which of the following
categories would best describe
Alzheimer’s disease?

What would be the best way to
describe Alzheimer’s disease?




Manipulation of Response alternatives

Colloquial alternatives Formal alternatives

For each of the following statements you can answer with:

Yes Agree
Maybe Neutral
No | Disagree
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Effects of Response alternatives

Colloquial alternatives Formal alternatives
Yes Agree
Maybe Neutral

No Disagree




Effects of Response alternatives and respondent
characteristics

Alternatives (Formal) 1.83 »~ 6.23
Education (years) -0.23 ** 0.79




Conclusions

- No clear effects of DPQs versus SOEQs
- Difficulty of using existing survey

- Effects of alternatives replicated; yes/no better than
agree/disagree




Thank you!
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